41120
41121

* 41142

ORoco— Ersoiztelliste

Replacement Parts

Text

Pos.

Nr.

Art.-Nr. g

1 Zylinderkopfschraube M 2x18
Cheese headed screw M 2x18
Vis a téte cylindrique M 2x18

2 | Zylinderkopfschraube M 2x5
Cheese headed screw M 2x5
Vis a téte cylindrique M 2x5

3 | Zahnrad z=171; m 0,4
Gear T=17I; m 0.4
Pignon & 17 dents, module 0,4

4 | Zahnrad 2=23r, m 0,4
Gear T=23r, m 0,4
Pignon & 23 dents, module 0,4

5 | Zahnrad mit Achse
Gear with axle
Pignon monté sur abre

6 | Platine
Printed circuit
Circuit imprimé

7 | Standardkupplung
Standard coupling
Attelage

8 | Radsatz
Wheelseat
Essiau

9 | Wippe
Rocker arm
Balangoire

10 | Kupplungshalter f. 41142
Holder for coupling f. 41142
Support d'attelage p. 41142

11 Lokboden f. 41120/21
Gears cover f. 41120/21
Couvercle d'engrenage p. 41120/21

12 | Kupplungshalter . 41120/21
Holder for coupling f. 41120021
Support d'attelage p. 41120/21

13 | Lokbodenf. 41142
Gears cover f. 41142
Couvercle d'engrenage p. 41142

85679

85693

BE6408

86420

86421

87678

89246

90629

95372

95373

105251

105252

105254

23

23

Blatt 726/2
Page 726/2




